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999723 992aR AN — 992K said there is a tradition.

Overview

The X773 is discussing the feasibility of building an 0PV 72X in the 1w 072,
which was higher than thirty nX. Originally it was suggested to build the
wall up to thirty nmX (as it was in the WX n°2), and for the rest of the
height a curtain would be used. The X713 said this is not feasible; an X
width cannot support such a height. In the 7wWX7 n°2 it was able to be thirty
nnX high only because it was braced by the ceiling and plaster. To which the
X713 responded; let us make it whatever height an 7nX width will support,
and the rest will be made of curtains. »2X stated that there 1s a 77107 that the
separation be made either completely with a wall (as it was in "WX2 n°2) or
completely with a curtain (as it was in the J2wn).

NP XMWY 7% 82 w7 — The first answer is not required anymore. We
need not say as we previously stated that a wall of thirty nnX high can be
supported by a width of an fnX, only if in addition there is a bracing support
from the weight of the roof/ceiling. That assumption is now irrelevant'. In
any case we could not build a partition consisting of both a wall and a
curtain.

Summary
The 7m0n that »2X stated; either completely wall or completely curtain, is all

that is necessary to explain why there was no wall/curtain combination in the
1w N°2

Thinking it over
For what purpose is ma01n telling us that 772°Tv21 7720 23X is now irrelevant?

" This would seem to contradict the previous "1Xw 7"7 (X,3) Mo which stated that when there is additional
support from the roof/ceiling then an X width can hold more than the height allowed for in our m1wn (i.e.
four nX high for (every) five anov width). In fact it can hold up to thirty N high (with a width of one
7nX). Now miooin seems to be saying that this statement (concerning 712°1911 37pn) is irrelevant. See 9"wamn
here who questions M501N assumption that the X7n3 is retracting its original statement, since the X3 did
not say '®2X'. This may indeed be the answer to our question. N1900 is not saying that the X713 retracts the
previous assumption of ™31 72°T¥»1 77PN 23X'; this assumption remains. N9 is merely stating that this
assumption is not necessary to answer the question why did they not build (at least) a partial wall in the n°a
1., Once ™2X stated that it is a tradition etc., the assumption of 777N 23X is irrelevant to our discussion, but
it remains valid. Therefore Maodn previously stated that the X713 could have answered 121 77PN 23X,
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